307/Eco. UG/3rd Sem./ECOH-CC-T-6/21 e) What is meant by transmission mechanism?
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f)  Define AD curve.
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Course Code : ECOH-CC-T-6 g)  What is cyclical unemployment?
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The figures in the right-hand margin indicate marks. _ _
h)  What is stagflation?

fberol—Hife 52

i)  What is mark-up inflation?

Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions: 2x10=20 AF-iot qmrife 5o
@I wifB Qe Ted 7 ¢ j)  What is meant by 'shoe leather cost' of inflation?
a) What do you understand by tight monetary TUPHITeR o BINe! 136 0o 6 (@RI ?
policy? k)  What is the slope of AS curve in the classical
FIR e s Fe1ce & @R 2 case?
b)  Give examples of adverse demand shock and o ©0g AS (FLIF T ool 2302
adverse supply shock. 1)  Define real interest rate.
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c¢) ~ What is crowding out effect? m) Differentiate between adaptive and rational

Crowding out Zeiq 52 expectations.
d)  What is liquidity trap? wferifes @ gfevmre aeria s 14w s |
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2.  Answer any four of the following: 5%x4=20
- BT e Ted 71S 2

a)

b)

d)
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Derive the AD curve from the IS-LM framework.
I[S-LM S31tite AD @2t el e |

Show that the Long-run Philips curve is a vertical

straight line.
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Discuss the difference between monetary
policy and fiscal policy in terms of impact on

components of aggregate demand.

wfae vifgna Sovie S geiEa e
wifef @ e Aifed sy #ied<wy (e |

In a closed economy IS-LM model, if the

transaction demand for money is a function of
disposable income, what will be the value of
balanced budget multiplier? (Assume lump sum

tax)
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Distinguish between Classical and Keynesian
labour supply schedule.
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3.  Answer any two of the following:

When does the AD schedule shift its position?

Discuss
AD @2l T B ATE I 2 SN 4 |

10x2=20
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a)

b)
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Derive the short-run Philips curve and explain
why the long-run Philips curve is steeper than

the short run one.

FEFEA 1o @l [T $3 93k mele @,
P 19| (@4 Bel, el (@R Gl
SICoPF (N 2 |

Consider an economy where the government
considers two alternative programmes for
contraction (i) removal of investment subsidy
(i1) a rise in income tax rates. Use the IS-LM
model to discuss the impact of these alternative
policies on income, interest rates and

investment.
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Explain cost push theory of inflation. Discuss

the economic effects of inflation. 5+5
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OR

Write a short note on inflationary gap. 10
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